mz I\Ichg/d ﬂdqﬂ

Ratio to ATLAS

7000 Ge\( PP

Underlying Event

T I I L R A | [2)
2.2 — —c
<IN,,> density wrte of leading track(i| <2.5, p_>0.5 GeV, p_ >3 GeVy
- =
2 m ATLAS 4
—  --O-- Herwig++ 2.6.1a default n
1.8 [~ --3-- Herwig 7.2.0 default =
L —
1.6 — —_é
1.4 —
1.2 [— -8
_@g — g‘,;_
W= K
I o
tF . ggg!@gaaaﬁ@; .
o8- o e =k
SE 2eoL b s
- 15
0.6 — — QE)
N 19
0.4 — — %
e T -
= ' ' ' ' ! ' ' ' ' ! ' ' ' ' [
2 = =2
. B ]
05 —0.5
I T SR S I T R S I T R S l

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


